N & 0l & AF S & M M

20158 = 20 A LEHSH HASKE D
EX: A=SXE
HaM: =) 2H NE (AL 2R /=)
& F=HEF N (chel & 9l)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
A=EX &=} 6,172,616 1,315,212 4,857,404
= 3,805,211
&< 351,639
Al 2,015,766
F) 83 HE (A EX/F=) 4,975,144 516,350 4,458,794
= 3,693,211
= 328,056
Al 953,877
FHEH A 4,975,144 516,350 4,458,794
= 3,693,211
== 328,056
Al 953,877
SE FTHEEIMNA 30,400 120,400 A 90,000
201 et 400 400 0]
01 AP 2t 2| bl 400 400 0
OZe et A gol 400
— FEE 22E M &
200 « 10004 *~ 10& 200
— THoHOH&E H& 2 200& * 10004 * 10& 200
402 SI2tXHE0| & 30,000 90,000 A 60,000
01 QIZEXI2AIE 2 X 30,000 90,000 A 60,000
OelE HHIAMA(EXE HH)
1,500,000 = 20= 30,000
2T XA 260,530 206,030 54,500
201 et 98,530 4,030 94,500
01 AP 2t 2] d| 98,530 4,030 94,500
OUINAMESM(ELIAAIRRS BMHE)
70,0008 * 6YH x 23] 840
O2sTeze BX2 I (Ao ds 9
EhA e 70,0008 * 6H x 23] 840
OZEZY AZNUE BIDY SO
9,000& * 150 1,350
OZ2sTH AFNUHE S2lUEs LAEE
250,000® * 4% * 13| 1,000
OBSFE AEfXA} 93,000
— A IZALSY(HS A SIH A, IS AL
300,0008 * 6 x 10 * 53] 90,000
— ASZAF 0Hl ¥ WEH|
100,0008 * 6Y * 53| 3,000
OSSFTY AEHXZAI TEH Y A 0ls &X
30,000& = 10 » 1JHA* 53] 1,500
301 et A= 2,000 2,000 0
09 HAIAHI B A2 2,000 2,000 0
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fAMN: A=K EH
Ba: =) 82 N (ME=R/Ee)
& F=HEF N (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MEIBEE 263 4,441,514 0 4,441,514
OZINZ=HESH(FAHASH)
106,297& * 3,4820t7 = 128 4,441,514
= 3,553,211
< 310,906
Al 577,397
307 glz2tol & 175,000 0 175,000
= 140,000
< 12,250
Al 22,750
05 RIZt2IE = 175,000 0 175,000
OFAHE=SS0 =2l
1,750,000& = 1000t 175,000
= 140,000
< 12,250
Al 22,750
NASE=HSBZMEAMS () 24,500 0 24,500
< 4,900
Al 19,600
307 glz2+ol & 24,500 0 24,500
< 4,900
Al 19,600
05 RIZteIE = 24,500 0 24,500
ONASE FHHAMLAY
1,750,000& * 14H 24,500
< 4,900
Al 19,600
ARHF (I ELXNYMNL/NAL A 286,312 149,129 137,183
s A=HAH 286,312 149,129 137,183
A=aF ol - oIt 80,276 138,976 A 58,700
201 £B-2d| 20,276 23,976 A 3,700
01 At 22l 20,276 23,976 A 3,700
OAF25 It MAlgol 100& = 158 = 5000H 750
OdA=o0 gl 2 15,000& » 108 150
OH=grolegd 2 100,000& * 1& 100
OH=2&3 11,200
— ¥ F4 = 70,000& = 10¥ « 83l 5,600
ME MA =Y 30,000& = 102 = 83l 2,400
— ¥ F4& 80,000& = 5% =« 83l 3,200
OASA HBAS +22(510F L ABSAY
Ab) 230,020& * 1/8 » 1004 2,876
ONSH 222 A8 822 WA
1,000,000& * 14l 1,000
OA=4 AN (A== AKX, NS 4,200
— 2 M 1,000,000& * 34 3,000




2N
X ZH -
L= B

el

Dl_qlg_% -/
ASHE(ZELXNAMNL /NAL Al
s A=AE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— oI M 200,000& = 6H 1,200
402 RIZEXtE0| A 60,000 115,000 A 55,000
01 A Tt=AEER 60,000 115,000 55,000
Od=E MESBS =2 X
30,000,000 * 2= 60,000
SYHASE = 195,836 10,153 185,683
101 14l 8,036 7,503 533
04 JI12ZtHZ22 a2+ 8,036 7,503 533
OAS2UT HMSEY 2y
44,6402 = 198 * 180¢ 8,036
201 Let24E] 2,300 2,300 0
01 At 22l 2,300 2,300 0
Odsz2dg S 200
—A=8 oHed 100,000& * 1& 100
—=AEY Hed 100,000& » 1& 100
ORLF:XE 2eid & A==SUE vt
SIS 15,0004 » 208 300
ORAPA=TE N 2eItE ME
200& = 10004 = 10&A 200
OA==UE MA s 50& 165 » 50004 400
ORL=xE 223t WA
200 = 10004 = 10& 200
OFIPAES AN S22
500,000& =« 23l 1,000
401 A& HIZ 201 I 185,500 0 185,500
01 A& HI 184,165 0 184,165
OH=EESCHd 2L AEEY 184,165
— &J18&l
3,500,0009 * 508 * 99.28/100 173,740
— oM X Y|
10,500,000& = 1S * 99.28/100 10,425
03 Al S HHI 1,335 0 1,335
On=sordze] AEsY 1,335
— 321824l
3,500,000% * 50= * 0.72/100 1,260
— YU OtM A CHY| 75,000 * 14l 75
S3ASS 22 10,200 0 10,200
201 L2l 9,850 0 9,850
01 At 22l 9,850 0 9,850
ocAEzd g 3,000,000& * 34 9,000
Odsz2g &4 7Y 400
— A=Y oH&E 100,000& * 1A 100




2N

DI_"% -/
HE: AEHF(TELNANL/NALEA)
ool oiEe AZHE CERED
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
—2AFx34 100,000& * 1& 100
—2A48AMHI|2H & 100,000 » 1& 100
— A=) =8 EY & 100,000 = 1& 100
O23H=E== AMA ROl 100 = 15 * 300 450
405 XHAHF S HI 350 0 350
01 XA 2 ZF S| 350 0 350
odxgatnet = 350,000& ~ 1CH 350
NEANH (2EL R AL /R ALEZAl) 747,554 495,735 251,819
= 112,000
= 23,583
Al 611,971
NS 502,450 296,478 205,972
= 112,000
& 6,000
Al 384,450
EXols A2l 22,325 21,860 465
201 LBt | 22,325 21,860 465
01 AP 22| d| 7,750 7,310 440
OEXO=E AFE MA Kol
502 x 5= = 5,0000H 1,250
OXNH2A T A 2 30,000 * 23 x 65 360
OXEOA HHAEH %2l 500
— 2AI(AEH) 500,000& ~ 1CH 500
ogxasll 2l ¥ |
600,000® * 2CH * 13| 1,200
OFR=M(Li=Zeel) 120,000 * 48tA x 23] 960
OXE=sH 2AX SLRBHAZ2H
160,000 * 89 1,280
OXNEHHMHIASE EE28 HEA H&
100 * 1,000& * 13| 100
OZ2REXN=ZE/AIS ¢
70,000 * 6YH = 53| 2,100
02 =224 H| 14,575 14,550 25
OXNEZ2(RUHE)AIAE 2R - S/W SR 22
150,000& = 12& 1,800
OXEINIZ2SHAAAE - S/W S X 22
150,000& = 12&€ 1,800
OX&EII=E= B= 10,000,000& = 14l 10,000
TREXNSY 2BA 22 2HL3
1,950& * 502 * 103 975
AN EHAA 2L 23,236 22,303 933
101 Q124 4] 8,036 7,503 533
04 JI2ZtHIZ2Z2NEE S 8,036 7,503 533




M AFX
e E R =k
L= B -, o

H(2ELXNGMNL/XNLLE Al

©el: NEael

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
S EEEENEEED
44,640 * 2H * 90 8,036
2Bt | 15,200 14,800 400
AtS 22l 7,000 7,000 0
OXHMAZTH EHAZII(A0) 7L
250,000& * 8=t~ 2,000
OXNFEAZH ZHEX(EclUAHEZE) 2
2 20,000& = 30=rA 600
OXNFTNUEH 298 22H €3 F¢
2,000,000& *» 1HIE * 13 2,000
OXEFMATO L2ITRIEI| S (44)
1,200,000& = 104 * 23| 2,400
S22l 8,200 7,800 400
OXNBEHHAG AlAB 2R S/WRXE=
100,000& * 12& 1,200
ONE=SEZE MEX 100,000& * 50& 5,000
OSZININ(EEAHOE) RAE =4
1,000,000 = 2CH * 13l 2,000
g And Hs 2 AEEY 22 4,400 5,160 AT760
et 4,400 5,160 AT760
AtS 2tel 4,400 5,160 AT760
OXHQIA 85 o4 208 » 58 » 20,00004 2,000
OXNHQUH g5 SASX 2
15,000 = 10=FA « 123 1,800
OoZ)| 22 2 g% 7Y
50,000& = 208 = 63l 600
EREFA ALY 302,533 158,415 144,118
jellal=] 8,036 15,005 A 6,969
04 JIZHHZ2XNESE S+ 8,036 15,005 A 6,969
OASHSE XTA L FY oy
44 6403 * 2% x 90 8,036
201 Let24d] 27,924 28,794 AB870
01 At 2teltl 26,460 28,530 A 2,070
OE2E =2 ALY 6,400
—ZNFLTFBANLAE X2
500,000& =« 23l 1,000
—M=zAEH E2H A2l
1,000,000& * 13l 1,000
—M=AEH Z22H X 30,0008 * 402 1,200
—M=AEH S2H 23
80,000& * 6& 53l 2,400
—d=2gsE NMAHE HEEZ2H SA2
gl 500,000& * 12 500
—JJEE=2H Z¥ 30,000& = 104 300




2N AT H B
H: NHAY(ZELXNINL/UILTAI

chels XX 22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OE2Y8=x=4A EEB2 ME 16,300
—E28 g9 60,0003 * 100HA = 13 600
—CREFL BHSE
1,000& = 5,00000 * 13l 5,000
—&8X&8 ot XI& 800& = 10,00000 * 13l 8,000
— I =GN EHSES 2222
90& = 10,00000 = 13l 900
—dN=ANE EE22SE
90& = 20,00001# = 13l 1,800
OASHSH LUAHN S QANA S0
50& = 6& = 3,0000H 900
OAZES2el oEfd=F ESUEHE U2
90& * 10,000 = 13 900
OXNZEAJZ FAx=E 70,0008 * 3 = 23 420
OS2YFA995 B4 49
70,000& = 11H « 23| 1,540
02 3323l 1,464 264 1,200
OL2Y=A XGeHHE MIIR3
1,0008 » 22004 = 12& 264
ORutLEzHF4 AdsZelAAE S/WRX
2| 100,000& * 128 1,200
206 M= Hl 19,600 15,600 4,000
01 =8l 19,600 15,600 4,000
OE2Y =L 20HAY 19,600
—ANEE RHES 7¢ 1,000,000& * 23] 2,000
—ANEE &8 BLALAIERX 7Y
650,000& » 48 2,600
— MR HER ASHSE(PHE) 2
6,000& * 1,0000H 6,000
—slagas ASHsEn g
6,000& = 1,5000H 9,000
401 AIEHIZ 28I 234,577 86,620 147,957
01 A& HI 232,900 85,900 147,000
Ozzgm 5 4X & sX2e 29,500
— UMY T2 TRET &
450,000 = 204 9,000
—gl&EYs T2HE Hdl 450,000& » 300K 13,500
—JIxzHsSHE &X ¥ KA
70,000& = 1004 7,000
OZEs X & |X2e
15,000& * 6004 9,000
OE2g =4 XNYetifeE 84X 2 g2 76,400
— XNgotiE 8X1 ¥ A2
7,000,000& = 44 28,000
— X E HE L SN
2,200,000& » 2201 2 48,400




2N AT H B
H: NHAY(ZELXNINL/UILTAI

Sl XF2e (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE2LH T29 HAl A & X2
60,000& * 300H A 18,000
OHASZE T2H =L GHURIE &X
1,000,000& = 500H £ 50,000
OE2H=4 OHHAIE X =T AH(ZYE)
50,000,000& * 14l 50,000
03 Al SR THHI 1,677 720 957
OE2HEE=A QHUHAIEE €1
232,900,000 = 0.72/100 1,677
403 MtXISHHE =0l & 12,396 12,396 0
02 3|25 0l CH SHCH & At & HI 12,396 12,396 0
OIZNF2TFEAN2EY RRES ¥ 2Y 7,912
—GIS A S/W RKRE= 1,862,0008 * 14 1,862
~INFATLAAY 2% TR
6,050,000& * 14! 6,050
OERE=ADI2E A3 ALY
4,484, ,000& = 14 4,484
KNETHZA AL (2) 107,000 0 107,000
= 107,000
401 Al HI K 201 I 107,000 0 107,000
= 107,000
03 Al 2 THHI 107,000 0 107,000
OXNETE=A SE&E=2=  107,000,000& * 14 107,000
= 107,000
CR2YEFAANE(Z) 6,000 10,000 A 4,000
< 6,000
401 A& HIZ 2018 6,000 10,000 A 4,000
= 6,000
01 A& HI 6,000 10,000 A 4,000
OAEZe B2 E2HE 41X
500,000& * 1274 6,000
< 6,000
SE2YEF LAY (2) 5,000 12,000 AT7,000
= 5,000
401 Al HIZ 201 I 5,000 12,000 AT7,000
= 5,000
01 A& HI 5,000 12,000 AT,000
OXFe TATE TEHW A
500,000& = 104 5,000
= 5,000
NETEAL ALS 31,956 66,740 N 34,784
101 14 Hl 8,036 0 8,036
04 DIt Z2XRHEE S 8,036 0 8,036




CAE

By

AR (ZELXNGNLY /NS L A
D AHE2e )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
OXETHZALAY 12
44,6403 * 2% » 90 8,036
201 L4l 23,920 16,740 7,180
01 At 22l 23,920 16,740 7,180
OXNETHZALALY =S E2HI 4,040
—dMEHEX F0 S 120,000& * 123/ 1,440
— NEMHWEMAME DSWH M
1,000,000& * 13l 1,000
— KNEHEZAALY CHUHE2 S MZ
500,000& =« 23l 1,000
— NETHZALALY & =2 H &
60,0003 * 5 = 23] 600
OXNETHE=AANY =F 3 10,000,000 = 14l 10,000
OZAHZEEa =& 70,0008 » 78 » 23 980
OXNEBHE=ARI &S =&
70,0003 = 5H « 23| 700
OZFEII===2 5,000,000& * 14! 5,000
O&H EHEX(A0) e 250,000& * 48 A 1,000
O&d s"EX(2eldArH=zEE) ¢
20,0003 = 10&FA 200
O&Y =88 224 23 #¢
1,000,000& * 1HIE » 28 2,000
Xot2tel 245,104 199,257 45,847
< 17,583
Al 227,521
HESAIXI O ZA 157,188 134,971 22,217
101 @124l 27,677 25,842 1,835
04 JIZtHZ22HEE = 27,677 25,842 1,835
OMESAIXI It ZAL 212 27,677
— Xt Es o 3
44,640 * 28 * 60 5,357
~ENSEHZA 22
44,6403 * 10Y¥ = 50 22,320
201 £B-2dH| 129,511 109, 129 20,382
01 At 22l 112,711 106,729 5,982
OXIIEH MLXE #HHE D
25,0003 = 12¢A 300
OZZEIIA BB =8 88,081
—ZJds(181d &)
42,0002 = 170,000 XI /62Z XI * 50/100 57,581
—2dAMEE EXNSS
42,0002 * 2002 X * 50/100 4,200
— 08 E EXNES
42,0002 * 2002 X * 50/100 4,200




2N AT H B
H: NHAY(ZELXNINL/UILTAI

CHl: X2l (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
28 8% S EAOISE 25(72120(F)
42,000 * 3,000 X * 50% * 30% 18,900
—HLRYS NF RHHAERN 2B
2,000,000,000& * 8/10,000 * 23| 3,200
OlgHIsg 8338 =& 1,600,000& * 53] 8,000
OEXESY ZAIE & HEZXZA K0
50,000& = 30BfA 1,500
OXZA A 2X 8 gl 50,000 = 308FA 1,500
OMEZ2AXIF AEEA K0
50,000 = 308FA 1,500
ORXIIFEAL OHLY E& 28 210 42 M
60,000 * 13 A * 23] 1,560
ORSHEIISAS BH2Y
70,000 * 129 * 63| 5,040
OXNIIEH ER2FH X (A0) 2
35,000 = K02 1,750
OXNIIEH ER2F 23 22 (4M)
40,0008 ~ 50= 2,000
OXNIIEHEZH S A &22H|
250,000& = 20H = 23| 1,000
OSSH AHAHE AN S HA 50
802 = 3,00000 * 2= 480
02 2224 H| 16,800 2,400 14,400
OSIRE ALY FH L ATEN RAS4
100,000 = 1404 = 12&€ 16,800
EXNHEAHAXSH(E) 87,916 64,286 23,630
== 17,583
Al 70,333
405 XHAHF S HI 87,916 64,286 23,630
== 17,583
Al 70,333
01 AL 2 ZF S H| 87,916 64,286 23,630
OZ22t8E QIS AIAE x 67,416
—HIXAIR AUCOIES (4201 X])
11,236,000& * 604 67,416
=} 13,483
Al 53,933
OZ22tdE JAISAIAE NEF = 20,500
— A H 6,500,000& ~ 1CH 6,500
& 1,300
Al 5,200
-S| 700,000& = 20CH 14,000
= 2,800
Al 11,200
HESAAH (A= E)(IIEH/DIE 163,606 153,998 9,608
Jl2dHl 163,606 153,998 9,608




S HHI (A=) (JIEH/IIE

B (BH) - NRAY - By il 2
Jl23l 163,606 153,998 9,608
201 LBH2d| 36,586 34,458 2,128
01 At 2t 2l 36,586 34,458 2,128
O=AERX 7 15,000 » 3384 « 5,940
OEZ2 A 6,000& * 64 * 33 « 14,256
Ogtx=x2 100,000& =* 1,200
O27E THFLY 50,000& = 600
OAL7 2 =44l 12,610
— SA| =2l (AF) 500,000& = 2CH 1,000
— T2l =2l 100,000& * 7CH * 50/100 350
— =AM EH 200,000& * 200 = 53] 2,000
—IZ2H EU(E%) 200,000& * 7CH * 53 7,000
— IZ2E EUd(2ch) 200,000& * 1CH * 53 1,000
—PC =¢l 100,000& * 33CH * 20/100 660
— JIEt =2l 50,000& = 12& 600
OJIE AFR2t2lH] 5,000& = 33Y = 1,980
202 Odl 121,440 114,080 7,360
01 = LH Yl 121,440 114,080 7,360
OAEXEYN SRF=& 04 dl 121,440
— 2L HI 20,0003 = 33H » 12& = 95,040
— 220l 80,0003 = 33 =« 26,400
203 PR =&l 4,380 4,260 120
04 EAN2IHRFEHI 4,380 4,260 120
ORAN2EIRFAHI 365,000 4,380
204 X2 4 AY| 1,200 1,200 0
01 Mg 1,200 1,200 0
OXNMZLARHAY (AS X H I E)
100,000& » 198 = 1,200




